Soustraction Avec Des Zéros (A)

1000
-131

10 000
- 679

10 000
-5253

10 000
-7 384

1000
-931

10 000
- 351

100

Calculez la différence.

100 1000
-54 - 38
10 000 100
-6720 -8
10 000 10 000
- 404 -6 576
10 000 10 000
-8 146 -6 303
10 000 10 000
-8 284 -9797
10 000 1000
-4 092 - 338
10 000 100
-3 344 -11

10 000
-4 489

10 000
- 1504

1000
-610

10 000
-2 002

100
- 50

100
-77

1000
- 580
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Soustraction Avec Des Zéros (A) Réponses

1000
-131

869

10 000
- 679

9321

10 000
-5253

4747

10 000
-7 384

2616

1000
-931

69

10 000
- 351

9 649

100

95

Calculez la différence.

10 000
-4 489

5511

10 000
- 1504

8 496

1000
-610

390

10 000
-2 002

7998

100
- 50

50

100
-77

100 1000
-54 - 38
46 962

10 000 100
-6720 -8
3 280 92
10 000 10 000
- 404 -6 576
9 596 3424
10 000 10 000
-8 146 -6 303
1854 3697
10 000 10 000
-8 284 -9797
1716 203
10 000 1000
-4 092 - 338
5908 662
10 000 100
-3 344 -11
6 656 89

23

1000
- 580

420
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